HENEREREES i
SH4E9H5H (H)

$:550) (847 : kg)
EES G miEH B = = 1B Z 1B " =

SE 2168 T 450.2 259 29
<Y 1,301.2 139 28
JUFHLA 423.5 1,200 20
LSHLA 114.9 621 20
TFELSHLA 186.2 1,189 201
=EHLA 876.2 369 20
<HLA 316.5 700 259
SCh 41.5 180 20
FARLY 875.6 1,250 369
<7+ 24.9 1,619 1,059
TVAYTAFX 158.7 181 20
TVAVTAF A58 25.0 809 T
F7> 07 1,330.0 390 29
HFHES 90.6 36 20
T LINTT) 82.2 61 23
FHALY 20.3 5,300 509
DL 31.5| 28,980 3,000 | "
ASA 34.3 400 129
AXHHd 599.1 1,050 26
sH= 81.2 3,639 200
GHH 220.5 2,000 1,110 [Go 5
>S5+ hF/ A 41.1 539 296

o 7,325.2




€:3=2) (BT ¢ kg)
FRZETELE AiEE W =2 = B Z 1B fm &
SHE 218 ZILAA S 602.1 660 313
ZILAA F%E 350.0 4,700 2,410 |52’ 1<
U A P 45.0 2,659 1,892 [on 0
=247 53.6 911 200
4T 10,422.8 900 111
AFF<3 51.0 1,600 1,439
CHE:E 18,849.7




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
BERERE 22& |[TJU 37.5 270 89
> )\ F 20.0 513 189
_~ 69.3 430 229
I5 A 83.8 1,150 319
>0OX)VUL 102.5 1,950 1,100
S5 30.8 1,551 1,000
XXF 870.5 1,500 893
AFIH 58.0 3,470 1,009
fnERiE 33& > A 14,740.8 495 80
AERE 228 <TI0 28.5 500 300
BHE 72 HRwFHA 2,206.0 645 300
#]D 27 JU 40.4 412 270
INGTHEE 18,230.6




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
SHEE 21%
Egjamw I5 A 45.5 1,800 400
AXF 217.1 1,800 1,000
AERE 228 NSO 2,246.7 3,000 1,000
#]D 27&£ E=5X 363.0 3,000 1,500
ho 18 <73 25.5 1,400 1,000

T2

2,897.8




